
 

 

Answer on Question #62893 - Chemistry - Organic Chemistry 

Country A releases 60 billion metric tons of CO2 into the atmosphere. Calculate the mass of carbon 

in this quantity of CO2. 

 

Solution 

Each carbon (IV) oxide molecule contains one Carbon atom. Therefore, the amount of Carbon equals 

the amount of CO2: 

𝝂(𝑪) = 𝒗(𝑪𝑶𝟐) 

The amount of CO2 can be estimated as: 

𝝂(𝑪𝑶𝟐) =
𝒎(𝑪𝑶𝟐)

𝑴(𝑪𝑶𝟐)
 

Therefore, the mass of carbon is: 

 

𝒎(𝑪) = 𝝂(𝑪) × 𝑴(𝑪) =
𝒎(𝑪𝑶𝟐)

𝑴(𝑪𝑶𝟐)
× 𝑴(𝑪) =

𝟔 × 𝟏𝟎𝟏𝟎𝒕𝒐𝒏𝒔

𝟒𝟒. 𝟎𝟏 𝒈/𝒎𝒐𝒍
× 𝟏𝟐. 𝟎𝟏

𝒈

𝒎𝒐𝒍
≈ 𝟏. 𝟔𝟒 × 𝟏𝟎𝟏𝟎𝒕𝒐𝒏𝒔 

 

 

Answer:  𝟏𝟔. 𝟒 𝒃𝒊𝒍𝒍𝒊𝒐𝒏 𝒎𝒆𝒕𝒓𝒊𝒄 𝒕𝒐𝒏𝒔 
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